February 13, 1953

TO TELCHERS OF MATHEMATICS IN GRADES 8 to 128

You will please find enclosed an examination given for Virginia
State Teachers Certificate in 1900,

On two sheets I have "taken" the examination and am asking you to
grade it, pleases Use a value of 10 for each question and place your
grade at the left and just under the number of the problem. Show total
grade at end of problem 10 and also show the proper letter on our 4 B C
D F system using plus or minuse.

The purpose is to compare our standards and to check reliability
or tolerancee

Please do not discuss this in any way with any other teacher of
Mathematics until after concluding your grading. The results will be

made knowne ;

Very sincerely yours,

(:DT:?, ag»vnyAJLCﬁﬁ_/f
O, L, Emerick
Division Superintendent

QIE :nsf
Enclosure

PesS. For additional recreation you might solve this problem for me.

" man proposes to spend $100,00 for 100 animals, buying
rabbits at 50 cents, lambs at $2.00 and pigs at $5.00. How many of each

would he buy?"
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Find total cost o
8,125 bricks
@ %o

f the following items:
@1%8 per Mss hO rolls of tin, each 21 ft. long, 20
02% per sqe ft.; 60 pieces studding timber, each 20 ft.

inches wide, o
long, 3 inches wide, and L inches, thick, @ $16 per thousand feete
Une-tenth of a full cask of wine having leaked out, ni

. X ne gal
sold, leaving eighteen twenty-fifths of original céntentsgstiggsiﬁezﬁ then
cask. How many gallons did it hold? €

he

i bank discounts a note at 8%, givin the mak - | .
for $720, how long did it have to ruﬁ? maker $641.60. The note being

\
6. Paid $80 for a carpet to coer a room 2l feet 1L
. y ~ Ollg e
inches wide and cost $1+25 per yde Find width g% roggf carpet was 27
A wagon body 12 fte long and 5 fta. wide is 30 inches deep in shelled corn

'
Find value of the corn at $i5 per bushel,

8. Bought 600 ydse of cloth @ $1 per yd. and sold L0O .
. dse of it
of 10%. At what rate of gain must remainder be solg in ord:r :2 :a;gsgs%

|
| on total first cost?

.t what rate will the interest on $3,200 for 92 d
on $l,800 for L6 days at 637 ’ 92 dgys, equal the interest

L, B, and C received $162 for digging a ditche A dug L4 rods, B 3 rods
3

10.
and C 2 rodse What should each receive?
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